1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: POTRERO CREEK DEBRIS BASIN, STAGE 90 EMERGENCY SEDIMENT REMOVAL

Project Number: 4-0-0025-90

Bid Open Date: 9/29/2021

Bid Abstract



ENGINEER'S ESTIMATE

CONTERA CONSTRUCTION CORPORATION

SOUTHERN CALIFORNIA GRADING, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$350,000.00	\$350,000.00	\$188,190.00	\$188,190.00	\$56,200.00	\$56,200.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$24,563.64	\$24,563.64	\$6,100.00	\$6,100.00
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$253,175.80	\$253,175.80	\$24,000.00	\$24,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$38,500.00	\$38,500.00	\$200,000.00	\$200,000.00
5	BASIN EXCAVATION	C.Y.	348,315	\$15.00	\$5,224,725.00	\$5.71	\$1,988,878.65	\$7.55	\$2,629,778.25
6	DEMARCATION FENCING	L.F.	4,302	\$5.00	\$21,510.00	\$2.36	\$10,152.72	\$9.00	\$38,718.00
7	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
8	DUST ABATEMENT	L.S.	1	\$150,000.00	\$150,000.00	\$12,350.00	\$12,350.00	\$77,000.00	\$77,000.00
9	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$59,964.88	\$59,964.88	\$47,000.00	\$47,000.00
10	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$24,850.00	\$24,850.00	\$6,000.00	\$6,000.00

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: POTRERO CREEK DEBRIS BASIN, STAGE 90 EMERGENCY SEDIMENT REMOVAL

Project Number: 4-0-0025-90

Bid Open Date: 9/29/2021

Bid Abstract



ENGINEER'S ESTIMATE

RAL INVESTMENT CORPORATION dba SILVERSTRAND CONSTRUCTION RICHARD LOPEZ CONSTRUCTION, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$350,000.00	\$350,000.00	\$165,195.18	\$165,195.18	\$164,400.00	\$164,400.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$114,860.00	\$114,860.00
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$43,000.00	\$43,000.00	\$107,000.00	\$107,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$18,000.00	\$18,000.00	\$186,100.00	\$186,100.00
5	BASIN EXCAVATION	C.Y.	348,315	\$15.00	\$5,224,725.00	\$7.67	\$2,671,576.05	\$7.00	\$2,438,205.00
6	DEMARCATION FENCING	L.F.	4,302	\$5.00	\$21,510.00	\$4.20	\$18,068.40	\$12.00	\$51,624.00
7	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
8	DUST ABATEMENT	L.S.	1	\$150,000.00	\$150,000.00	\$205,000.00	\$205,000.00	\$142,555.00	\$142,555.00
9	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00	\$91,100.00	\$91,100.00
10	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$23,250.00	\$23,250.00	\$97,306.00	\$97,306.00

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: POTRERO CREEK DEBRIS BASIN, STAGE 90 EMERGENCY SEDIMENT REMOVAL

Project Number: 4-0-0025-90

Bid Abstract

Bid Open Date: 9/29/2021



ENGINEER'S ESTIMATE J/K EXCAVATION & GRADING SPIESS CONSTRUCTION CO., CO., INC. INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$350,000.00	\$350,000.00	\$174,140.00	\$174,140.00	\$340,000.00	\$340,000.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$90,300.00	\$90,300.00	\$23,865.00	\$23,865.00
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$133,600.00	\$133,600.00	\$94,350.00	\$94,350.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$326,870.00	\$326,870.00	\$10,545.00	\$10,545.00
5	BASIN EXCAVATION	C.Y.	348,315	\$15.00	\$5,224,725.00	\$7.20	\$2,507,868.00	\$7.88	\$2,744,722.20
6	DEMARCATION FENCING	L.F.	4,302	\$5.00	\$21,510.00	\$3.50	\$15,057.00	\$6.10	\$26,242.20
7	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
8	DUST ABATEMENT	L.S.	1	\$150,000.00	\$150,000.00	\$57,300.00	\$57,300.00	\$199,800.00	\$199,800.00
9	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$103,000.00	\$103,000.00	\$77,700.00	\$77,700.00
10	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$26,300.00	\$26,300.00	\$610.50	\$610.50

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: POTRERO CREEK DEBRIS BASIN, STAGE 90 EMERGENCY SEDIMENT REMOVAL

Project Number: 4-0-0025-90

Bid Open Date: 9/29/2021

Bid Abstract



ENGINEER'S ESTIMATE W.A. RASIC CONSTRUCTION GRIFFITH COMPANY COMPANY, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$350,000.00	\$350,000.00	\$200,000.00	\$200,000.00	\$205,000.00	\$205,000.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$245,000.00	\$245,000.00
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$100,000.00	\$100,000.00	\$14,000.00	\$14,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	\$252,000.00	\$252,000.00
5	BASIN EXCAVATION	C.Y.	348,315	\$15.00	\$5,224,725.00	\$8.60	\$2,995,509.00	\$8.30	\$2,891,014.50
6	DEMARCATION FENCING	L.F.	4,302	\$5.00	\$21,510.00	\$10.00	\$43,020.00	\$10.00	\$43,020.00
7	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
8	DUST ABATEMENT	L.S.	1	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$5,000.00	\$5,000.00
9	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$75,000.00	\$75,000.00	\$42,500.00	\$42,500.00
10	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$100.00	\$100.00

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: POTRERO CREEK DEBRIS BASIN, STAGE 90 EMERGENCY SEDIMENT REMOVAL

Project Number: 4-0-0025-90

Bid Open Date: 9/29/2021

Bid Abstract



ENGINEER'S ESTIMATE

KANA SUBSURFACE ENGINEERING

RIVERSIDE CONSTRUCTION COMPANY, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$350,000.00	\$350,000.00	\$500,000.00	\$500,000.00	\$390,000.00	\$390,000.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$32,000.00	\$32,000.00	\$10,000.00	\$10,000.00
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$150,000.00	\$150,000.00	\$120,000.00	\$120,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$53,000.00	\$53,000.00	\$190,000.00	\$190,000.00
5	BASIN EXCAVATION	C.Y.	348,315	\$15.00	\$5,224,725.00	\$8.25	\$2,873,598.75	\$9.00	\$3,134,835.00
6	DEMARCATION FENCING	L.F.	4,302	\$5.00	\$21,510.00	\$13.00	\$55,926.00	\$9.00	\$38,718.00
7	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
8	DUST ABATEMENT	L.S.	1	\$150,000.00	\$150,000.00	\$190,000.00	\$190,000.00	\$80,000.00	\$80,000.00
9	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$29,000.00	\$29,000.00	\$150,000.00	\$150,000.00
10	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$15,001.25	\$15,001.25	\$5,000.00	\$5,000.00

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: POTRERO CREEK DEBRIS BASIN, STAGE 90 EMERGENCY SEDIMENT REMOVAL

Project Number: 4-0-0025-90

Bid Abstract

Bid Open Date: 9/29/2021



ENGINEER'S ESTIMATE GRANITE CONSTRUCTION CHRISTENSEN BROTHERS COMPANY GENERAL ENGINEERING, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$350,000.00	\$350,000.00	\$401,272.25	\$401,272.25	\$197,500.00	\$197,500.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$99,000.00	\$99,000.00
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$35,000.00	\$35,000.00	\$278,000.00	\$278,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$5,000.00	\$5,000.00	\$172,000.00	\$172,000.00
5	BASIN EXCAVATION	C.Y.	348,315	\$15.00	\$5,224,725.00	\$10.45	\$3,639,891.75	\$10.26	\$3,573,711.90
6	DEMARCATION FENCING	L.F.	4,302	\$5.00	\$21,510.00	\$5.00	\$21,510.00	\$7.21	\$31,017.42
7	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
8	DUST ABATEMENT	L.S.	1	\$150,000.00	\$150,000.00	\$10,100.00	\$10,100.00	\$323,400.00	\$323,400.00
9	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$15,600.00	\$15,600.00	\$59,600.00	\$59,600.00
10	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$50.00	\$50.00	\$549.00	\$549.00

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: POTRERO CREEK DEBRIS BASIN, STAGE 90 EMERGENCY SEDIMENT REMOVAL

Project Number: 4-0-0025-90

Bid Abstract

Bid Open Date: 9/29/2021



ENGINEER'S ESTIMATE CJW CONSTRUCTION, INC. JAMES MCMINN, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$350,000.00	\$350,000.00	\$50,000.00	\$50,000.00	\$78,000.00	\$78,000.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$1,000.00	\$1,000.00	\$680,000.00	\$680,000.00
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$340,000.00	\$340,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$80,000.00	\$80,000.00	\$105,000.00	\$105,000.00
5	BASIN EXCAVATION	C.Y.	348,315	\$15.00	\$5,224,725.00	\$12.80	\$4,458,432.00	\$7.85	\$2,734,272.75
6	DEMARCATION FENCING	L.F.	4,302	\$5.00	\$21,510.00	\$10.00	\$43,020.00	\$4.50	\$19,359.00
7	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
8	DUST ABATEMENT	L.S.	1	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00	\$500,000.00	\$500,000.00
9	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$360,000.00	\$360,000.00
10	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	\$75,000.00	\$75,000.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: POTRERO CREEK DEBRIS BASIN, STAGE 90 EMERGENCY SEDIMENT REMOVAL

Project Number: 4-0-0025-90

Bid Open Date: 9/29/2021

ENGINEER'S ESTIMATE

CANYON SPRINGS ENTERPRISES dba RSN CONSTRUCTION SERVICES



Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$350,000.00	\$350,000.00	\$300,000.00	\$300,000.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$100,000.00	\$100,000.00
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$89,000.00	\$89,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$130,000.00	\$130,000.00
5	BASIN EXCAVATION	C.Y.	348,315	\$15.00	\$5,224,725.00	\$13.00	\$4,528,095.00
6	DEMARCATION FENCING	L.F.	4,302	\$5.00	\$21,510.00	\$11.00	\$47,322.00
7	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
8	DUST ABATEMENT	L.S.	1	\$150,000.00	\$150,000.00	\$20,000.00	\$20,000.00
9	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$55,000.00	\$55,000.00
10	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00